210 = =3 (12010 L) bom et o UL
80 = AN AN an

@mﬁrﬁfd&.hﬂﬁwﬂﬂr {18} st .;.J-I;;. UL R
sl _
18x2=36 ; %uﬁﬁﬁaw ettt =l B0 1

'E'r{lﬁum:!-a.furﬂ-ﬁa’}mji.mm B .ol A f-h (n
N P G| SOPET

e JASE ({2,3)) o {2,3) (Ui}

,J{-nrt}d’ 4;"# -{h'J'

(oe®)® & )

(E-m& > £ A

16

- o
824 x 107 a.‘{:,!% il
- - y _ E o,
I:-l- :j%. ﬁ ‘:‘:L ” _--. o | T . -.-
M g Al ()
X =g ,ﬁ@;ﬂ-*'-;-fd' :r::' + ].-:_ Iy (=1}
(22 + 25}(2a - 2b}(4a” + ab?) cEedel AF e sl (i)
ac + bec + ad + bd 4’1};! (il

2. 2% 418 %{f {=iv)
1-64u” 4{;{ {xw)

L R AE L ek e (v
abixZ + 1) + x (a2 + b2) 2FUF  (xvil)

fa+b)° , a® +2ab+b° &;‘Fﬁ*‘ﬁﬁp,}r"&u frevili]
..".f".q_]'ﬂl i .F_J,rg"-::_ ATLE  [xix)

<[ 2] =[] et x om
%ﬁ“:-fd':?n'faj = 46 o A -LE‘ _4];’ (i)

-
e e
=

- 5

LI B AT o bt (xxll)
Al pociil)
'.'..F_ﬂ;f.-_.g.l-m {axlv)
T o b nZ_diNaB LGl (xxv) |
AB=3Cm , BC=45Cm, CA=6Cm LUl A ABC mm\

ey A il i poniil)

o s |

3x8=24 Ernde Slebon ad

x-ymS., xy=m24 FPpodd xry G

(xa’ -xTa) € (e

F
x=Y > x+ Y y li*ri :E‘-rr" 4;’ (g

X-y=T wr_-ulﬁ.lﬂ q.*}_"l
x+y=11

-{:-H‘ : m{:r-u“ ., XY =8.3Cm Ju‘ge{:.lq!_' 2N xvz ‘T'J

F LS A IRL L m Jr L il et i . Seow ‘ b



